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b3-ch4-1.R

library(openxIsx)
df<-read.xIsx("http://kanggc.iptime.org/book/data/finance—k.xIsx")
df_dat<-data.matrix(df)
year<-df_dat[,1];su<-df_dat[,2];bs<-df_dat[,3];dg<-df_dat[,4]

ic<—df_dat[.5]:gj<-df_dat[,6]:dj<-df dat[,7];us<-df_dat[,8]
sj<—df dat[.9]:9g<-df _dat[,10]:gw<-df dat[,11]:cb<-df _dat[,12] # plot0f| & F ot 42 "pottomleft'= Hal|2| {IX|, legend=c()=

b3-ch4-1.R(EE0l £Y)

22
o=

cn<—df_dat[,13];jo<-df_dat[,14]:jn<-df_dat[,15]:gb<—df_dat[ 2= otof He U
gn<—df_dat[,17];ji<-df_dat[,18]

plot(year,su,type="1",ylab="",col="black", ylim=c(0,400))

lines(year,bs,col="green");lines(year,dg,col=

lines(year,ic,col="red");lines(year,gj,col=
lines(year,dj,col="gray");lines(year,us,col="gold")

lines(year,sj,col="orange");lines{year,gg,col="black")

lines(year,gw,col="green")dnes(year,cb,col="blue")

lines(year,cn,col="red”);lines(year,jb,col="brown")

lines(year,jn,colz*gray");lines(year,gb,col="gold")

(
(
(
(
(
(
(
(

lines(year,gm;col="orange");lines(year,jj,col="black")

%)
=
(=]
(=]

|egend("bottom|eft",|egend=C("A‘|%","—'?'—*._"","EH:rL","O._'*._"","%"—’F—","EHE

",”%ﬂ'”,”*ﬂ%”,“%jl“,”zyl-%",“%%“,"§IE|I‘","|X_-I=='T|",”|x_-| |E'|-||,u7c;>]l_l=i1_u’u7c;>| |E'|-||’n

MZ="),col=c(1,3),Ity=1)
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b3-ch4-2-rev.R

library(openxIsx)
df<-read.xIsx("http://kanggc.iptime.org/book/data/double .xIsx")
year<-as.numeric(df$year)

korea<-df$Korea

jeju<—df$Jeju

par(mfrow=c(1,2))

par(mar = c(5, 4, 4, 4) + 0.3) # Leave space for z axis

plot(year, korea,type="I",col="red") # first plot

par(new = TRUE)

plot(year, jeju, type = "I", axes = FALSE, col=*

axis(side=4, at = pretty(range(jeju)))

mtext("jeju", side=4, line=3)

year_1<-year[2:17]
jeju.ts<-ts(jeju,start=2000,end=2016,frequency=1)
lieju<-lag(jeju.ts,k=—1)

gieju<—((jeju.ts—ljeju)/ljeju)*100

jeju_1<-jejul2:17]

par(mar = c(5, 4, 4, 4) + 0.3) # Leave space for z axis

plot(year_1, jeju_1,type="h",col="red",ylim=c(0,1.8e+07)) # first plot
par(new = TRUE)

plot(year_1, gjeju, type = "I", axes = FALSE, col="black",bty = "n", xlab =
=")

axis(side=4, at = pretty(range(gjeju)))

mtext("gjeju", side=4, line=3)

, ylab
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b3-ch4-3.R

library(openxIsx)
df<-read.xIsx("http://kanggc.iptime.org/book/data/position
-e.xIsx")

id<-df$id

name<-df$name

comp<-df$comp

eff<-df$eff

mc=mean(comp)

me=mean (eff)

plot(comp,eff,type="n",cex=1.5, xlim=c(0,70),ylj
points(comp,eff, pch=16,cex=1.5,col="blue"
with(df,text(eff~comp, labels=id, pos=1)

abline(v=mc, h=me, col="blue",lty=2)

legend("bottomleft",legend=name)
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